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A. LISTENING (50 points):

HƯỚNG DẪN PHẦN THI NGHE HIỂU

· Bài nghe gồm 4 phần; mỗi phần được nghe 2 lần, mỗi lần cách nhau 05 giây; mở đầu và kết thúc mỗi phần nghe có tín hiệu. Thí sinh có 20 giây để đọc mỗi phần câu hỏi.
· Mở đầu và kết thúc bài nghe có tín hiệu nhạc. Thí sinh có 03 phút để hoàn chỉnh bài trước tín hiệu nhạc kết thúc bài nghe.
· Mọi hướng dẫn cho thí sinh (bằng tiếng Anh) đã có trong bài nghe
Part 1. You will listen to a short conversation about easy life cleaning services. For questions 1-5, complete the form below by writing NO MORE THAN ONE WORD OR A NUMBER for each answer. Write your answers in the corresponding numbered boxes provided on the answer sheet. (10 points)

Easy Life Cleaning services

Basic cleaning package offered 

· Cleaning all surfaces 

· Cleaning the 1 __________ throughout the apartment

· Cleaning shower, sinks, toilet etc. 

Additional services agreed 

· Every week

· Cleaning the 2 ______________

· Ironing clothes – 3 ______________ only

· Every month

· Cleaning all the 4 _______________ from the inside

Washing down the 5 ______________
Your answers:

	1.
	2.
	3.
	4.
	5.


Part 2. You will listen to a recording about going vegan and its effect on the environment. For questions 6-10, decide whether the following statements are true (T) or false (F). Write your answers in the corresponding numbered boxes provided on the answer sheet. (10 points)

6. Vegans can consume eggs, milk and honey.

A. True






B. False

7. A large-scale study said that eating more meat plays a pivotal role in saving the planet.

A. True






B. False

8. Raising livestock for meat results in deforestation.

A. True






B. False

9. 16% of greenhouse gasses comes from air released from cows’ digestive system.

A. True






B. False

10. Beans and chickpeas can be good alternatives to meat in daily diet.

A. True






B. False

Your answers:

	6.
	7.
	8.
	9.
	10.


Part 3. You will hear a radio interview in which two young journalists — called Angus Brown and Yolanda Zouche — are talking about their work. For questions 11-15, choose the answers which fit best according to what you hear. Write your answers in the corresponding numbered boxes provided on the answer sheet. (10 points)
11. In Yolanda’s opinion, what is the most challenging aspect of her job? 

A. finding suitable images to accompany articles

B. trying to locate interviewees
C. expressing herself coherently within a tight word limit 
D. working to demanding time constraints

12. What is it about their work that Angus and Yolanda both enjoy? 

A.  the variety of the projects they get involved in
B.  the challenge of reporting news effectively 
C.  the opportunity to meet interesting people 
D.  the appeal of searching out information

13. In Angus’s opinion, the advantage of online newspapers over print versions is that they _______. 

A.  are able to cover a greater range of topics.
B.  can keep up with events as they develop. 
C.  allow interaction by readers.
D.  reach a far wider public.

14. What made getting a job in journalism so hard for Angus? 
A.  the extent of competition for posts
B.  a low level of encouragement from others 
C.  a lack of previous professional experience 
D.  the difficulty of establishing useful contacts

15. Yolanda believes that the essential requirement for a journalist entering the profession is ______. 

A.  an ability to write persuasively.
B.  a clear and logical mind.
C.  a resourceful and confident character. 
D.  a mastery of interviewing techniques.
Your answers:

	11.
	12.
	13.
	14.
	15.


Part 4. You will listen to a recording about co-teaching in Herdorn Middle School. For questions 16-25, complete the summary by writing NO MORE THAN THREE WORDS in each gap. Write your answers in the corresponding numbered boxes provided on the answer sheet. (20 points)
16. Co-teaching is a model of ____________ in which two certified teachers work together in a classroom which contains students of varying levels of need and ability.

17. There is no _____________ between the roles of the teachers in the classroom.

18. Each team often comprises a content area _____________ and a special education teacher.

19. The first teacher loves talking about individual students through all _____________. 
20. She also appreciates _____________ as a good way to help struggling students.

21. The second teacher can get the information or _____________ from another teacher, which is like crosspollinating.
22. Herdorn Middle School receives extra support to meet _____________.

23. Teachers are confident that the _____________ will be further narrowed.

24. The method helps dispel _____________ before students start practicing.

25. By not _____________ students, they can learn together and build on each other’s strengths.

Your answers:

	16.
	21.

	17.
	22.

	18.
	23.

	19.
	24.

	20.
	25.


B. LEXICO - GRAMMAR (50 points) 

Part 1.  Choose one of the words marked A, B, C, or D which best completes each of the following sentences. Write your answers in the corresponding numbered boxes. (20 points)
1. This picture book, the few pages _____ are missing, is my favorite.

A. for which

         B. of that

               C. to which


 D. of which

2. He tried to run away from the police and was charged with _______ arrest.

A. suffering 
B. standing
C. tolerating                         D. resisting

3. Your decision will ______ a great strain on our relationship.

A. impose

         B. propose

   C. expose


 D. suppose

4. In _______ to your letter of 30 May, I am writing to accept your offer of £3,575 in compensation.

A. connection
B. touch
C. answer
D. middle

5. Scuba diving? Oh no, count me _______ - I hate being under water!


A. out
B. in
C. off
D. on

 

6. The study showed that one in twelve women is_______ to develop breast cancer.

A. likely
B. alike
C. unlike
D. like

7. _______ of all modern domestic poultry is the red jungle fowl is widely believed.

A. The ancestor
         B. The ancestor is
   C. How the ancestor            
D. That the ancestor

8. Art critics do not all agree on what _______ a painting great. 

A. qualities to make



B. are the qualities for making  


C. qualities make



D. do the qualities that make 

9. Farmers supply crops with phosphorus in areas ________ have removed it from the soil.

A. because of long years of cultivation
B. where long years of cultivation

C. with long years of cultivation

D. by long years of cultivation

10. By the time his daughter graduates from the college, Mr. Brown ______. 

A. retired 

          B. will have retired             C. will be retiring               D. has tired

11. Had it not been for the intolerable heat in the hall, they _____ much longer.

A. will stay

          B. would stay

      C. would be staying
  D.would have stayed

12. Having been served dinner, _______.

A. the problem was discussed by the members of the committee.

B. the committee members discussed the problem.  

C. it was discussed by the committee members the problem.

D. a discussion of the problem was made by the members of the committee.

13. Fast internet service in rural areas provided a new ________ for prosperity.

A. convenience
           B. opportunity

        C. possibility

   D. chance

14. I've been on the ________ all day, and I'm really tired.

A. go


           B. do


        C. rope


   D. take

15. Why don’t we eat on the porch for a ________?

A. similarity

           B. song


        C. difference

   D. change

16. The winning entry will be the first correct answer drawn at ________.

A. hand

           B. random

        C. least


   D. last

17. It is high time for the critics _______ their minds to a new approach.

A. to open
  B. had opened
     C. opened
  D. to have opened

18. It’s amazing how Jenny act as though she and Darren_______ serious problems at the moment.

A. hadn’t been having
  B. hadn’t had
     C. weren’t having
  D. aren’t having
19. But the defence argues that Mr. Kwoyelo is a victim, claiming he was abducted as a child while walking to school and forced to follow ________ for fear of being shot. 


A. rules 
  B. guidance  
     C. directions 
  D. orders 

20. There was widespread outrage when it was discovered that a known pedophile had been given a job at the school. “You don’t let the ______ guard the henhouse” said one of the protesters.

A. fox
B. cat
   C. duck
   D. fish

Your answers:

	1.
	5. 
	9. 
	13.
	17.

	2.
	6. 
	10.
	14.
	18.

	3. 
	7. 
	11.
	15.
	19.

	4. 
	8.
	12.
	16.
	20.


Part 2. Complete each sentence with one suitable particle or preposition. Write your answers in the box provided. (10 points)

1. Could you look ____ these old newspapers for articles about the environment?

2. Can you hold ____ till I’ve finished talking the manager? Then I’ll be right with you.

3. She hasn’t told us the whole story. I’m sure she’s keeping something ____.

4. After the first year, I couldn’t cope with university, so I decided to drop ____. 

5. Rubber boots are impervious ____ water.

6. It wouldn’t be compatible ____ the public safety to let animals off with a slight punishment.

7. Leisure for study is congenial ____ his tastes.

8. Geology is a science I am not conversant ____. 

9. He may be slow at his work, but he is very quick ____ the uptake.

10. The young couple lay ____ money for their old age.

Your answers:

	1.
	2.
	3.
	4.
	5.

	6.
	7.
	8.
	9.
	10.


Part 3. Write the correct form of the words given in the brackets. Write your answers in the spaces provided below. (10 points)

	1. I was late because I _____________ how much time I will need. 


2. There was ice on the pavement which made it very difficult to walk as it was so _____________.

3. Despite the star-studded cast, the film was only _____________ successful. 


4. How can you _____________ the fact that some people live in mansions while others live in slums?

5. My brother lives in an attractive _____________ part of Paris.

6. The car in front was going very slowly, so John__________________ it.

7. I _____________ met an old friend last week.

8. There’s been yet another _____________ of cholera in Delhi.


9.  The lovers stood, hand in hand, gazing at the _____________ sky.


10. There was a heavy _____________ yesterday afternoon which completely ruined the church Garden Party.

	ESTIMATE

SLIP

PART

JUST

RESIDENT

TAKE

EXPECT

BREAK

STAR

POUR




Your answers:

	1.
	2.
	3.
	4.
	5.

	6.
	7.
	8.
	9.
	10.


C. READING (60 points)

Part 1. For questions 1–10, read the text below and decide which answer (A, B, C or D) best fits each gap.
FOOTBALL AS AN ART FORM 

When filmmakers Douglas Gordon and Phillipe Parreno set out to make an art house movie about the legendary French footballer Zinedine Zidane, they chose to film just one match between Real Madrid, the club for which he was playing at the (1) ______, and their great rivals Villareal. But instead of following the progress of the match, the ninety-minute film would show something that had not been seen before; the (2) ______ detailed movements of one man during an entire top-level football match. They hoped that the audience would disengage from the match itself, and focus on this portrait of greatness. Every (3) ______ gesture would be captured and they would see all of the player's grace, athleticism and competitiveness in great detail. 

The (4) ______ film is a fascinating work. Those who are not regular watchers of football will be astonished at how (5) ______ Zidane becomes actively involved in the game. For much of the ninety minutes he moves around the field relatively slowly; saying nothing, expressing even less, and only occasionally (6) ______ into a lethargic jog. And then the ball arrives at his feet, and there is a flurry of bewildering activity. The cameras (and there are seventeen of them (7) ______ on him) struggle to keep up. The defenders don't (8) ______ a chance. In a few touches, a couple of checks and feints, Zidane has (9) ______ them all behind. He crosses from the tightest of (10) ______ and his team-mate is left with the simplest of headers to score a goal. 

1. A. point 


B. moment

C. time


D. occasion
2. A. clear 


B. steady

C. precise

D. slow
3. A. one


B. single

C. lone


D. sole  
4. A. following

B. resulting

C. concluding

D. arising
5. A. partly


B. scarcely

C. rarely

D. hardly
6. A. breaking


B. changing

C. opening

D. starting 
7. A. trained


B. looking

C. pointed

D. staring 
8. A. gain


B. hold


C. stand

D. earn 
 
9. A. missed


B. left


C. lost


D. dropped  
10. A. places


B. positions

C. areas

D. angles
Your answers:

	1.
	2.
	3.
	4.
	5.

	6.
	7.
	8.
	9.
	10.


Part 2. Read the text and think of the word which best fits each gap. Use only ONE word in each gap. 

Getting ready for Mars

The Mars 500 project (1) ______ an experiment that simulated a return mission to Mars. Spending 18 months in a sealed facility in Moscow (2) ______ access to natural light or fresh air, six men were monitored as they attended (3) ______ their daily duties. A study into (4) ______ each of them coped with the psychological and physical constraints of the mission has found that there were wide differences in their wake-sleep patterns. For example, (5) ______ most of the crew began to sleep for longer periods as the mission progressed and boredom set in, one individual slept progressively less, resulting (6) ______ him becoming chronically sleep-deprived towards the end of the (7) ______. Identifying bad sleepers could be important on a real Mars mission, during (8) ______ people are required to be constantly alert even when days are tediously similar. Researchers warn that for any astronaut heading to Mars, exciting as the trip might initially seem, (9) ______ could be problems with stress brought on by the monotony of routine. However, they also report that (10) ______ some personal tensions between crew members, there was overall harmony within the group.
Your answers:

	1.
	2.
	3.
	4.
	5.

	6.
	7.
	8.
	9.
	10.


Part 3. You are going to read an article about the history of the electric guitar. For questions 1-10, choose the answer (A, B, C or D) which you think fits best according to the text.

SUPER HUMANS

Sit down with an anthropologist to talk about the nature of humans, and you are likely to hear this pearl of wisdom: 'Well, you have to remember that 99 percent of human history was spent on the open savanna in small bands of hunter-gatherers.' It's a classic scientific cliché, and it's true. Indeed, those millions of ancestral years produced many of our hallmark traits — upright walking and big brains, for instance. Of course, those useful evolutionary innovations come at a price: aching backs from our bipedal stance and existential despair from our large, self-contemplative cerebral cortex. 

Compounding the challenges of those trade-offs, the world we have invented is dramatically different from the one to which our bodies and minds are adapted. Have your dinner delivered to you instead of chasing it down on foot; log in to Facebook to interact with your nearest and dearest instead of spending most of the day with them. But this is where the utility of the anthropologist's cliche for explaining the human condition ends. 

The reason for this mismatch between the setting we evolved to live in and the situations we encounter in our modern era derives from another defining characteristic of our kind, arguably the most important one: our impulse to push beyond the limitations evolution imposed on us by developing tools to make us faster, smarter and longer-lived. Science is one such tool — an invention that requires us to break out of our Stone Age seeing-is-believing mindset so that we can clearly see the next hurdle we have to overcome, be it a pandemic flu or climate change. You could call it the ultimate expression of humanity's singular drive to aspire to be better than we are. 

To understand how natural selection moulded us into the unique primates we have become, let us return to the ancestral savanna. There the sun was hotter and nutritious plant foods were scarcer. In response, our predecessors lost their hair and their molars dwindled as they abandoned a tough vegetarian diet for one focused in part on meat from grassland grazers. Meanwhile, the selective demands of food scarcities sculpted our distant forebears into having a body that was extremely thrifty and good at storing calories. Now, having inherited that same metabolism, we hunt and gather burgers as diabetes becomes a worldwide scourge. Or consider how our immune systems evolved in a world where one hardly ever encountered someone carrying a novel pathogen. Today, if you sneeze near someone in an airport, your rhinovirus could be set free 12 time zones away by the next day. 

As regards behavior, our abilities abound. We can follow extraordinarily complex scenarios of social interaction and figure out if a social contract has been violated. And we are peerless when it comes to facial recognition: we even have an area of the cortex in the fusiform gyrus that specializes in this activity. 

The selective advantages of evolving a highly social brain are obvious. It paved the way for us to finetune our capabilities for reading one another's mental states, to excel at social manipulation and to deceive and attract mates and supporters. Among Americans, the extent of social intelligence in youth is a better predictor of adult success in the occupational world than are academic scores. Indeed, when it comes to social intelligence in primates, humans reign supreme. The social brain hypothesis of primate evolution is built on the fact that across primate species the percentage of the brain devoted to the neocortex correlates with the average size of the social group of that species. This correlation is more dramatic in humans than in any other primate species. 

The fact that we have created this world proves a point — namely, that it is in our nature to be unconstrained by our nature. Science is one of the strangest, newest domains where we challenge our hominid limits. It also tests our sense of what is the norm, what counts as better than well and it challenges our sense of who we are. Thanks to science, human life expectancy keeps extending, our average height increases, our intelligence test scores improve and we eventually break every world record. But when it comes to humans becoming, on average, smarter, taller and better at athletics, there is a problem: Who cares about the average? As individuals, we want to be better than other individuals. Our brain is invidious, comparative and more interested in contrasts, a state that begins with sensory systems that do not normally tell us about the quality of a stimulus but instead about the quality relative to the stimuli around it. 
1. According to the writer, the anthropological cliché to explain the nature of mankind ______.

A. needs some slight modifications 

B. requires little analysis 

C. should be considered paradoxical 

D. is limited in scope 

2. Humankind will only be able to use science to progress if ______.

A. ethical considerations are ignored 

B. we discard an outdated approach to acquiring knowledge 

C. our drive to eliminate barriers continues 

D. the philosophy we adopt can be widely understood 

3. Our ancient ancestors lived in a world where ______.

A. the necessity to hunt for food led to good health 

B. it was vitally important to have a balanced diet 

C. isolation allowed them to develop immunity from disease 

D. their restricted movement protected them from illness 

4. The word “peerless” in paragraph 5 is closest in meaning to ______.

A. friendless 

B. unsurpassed 

C. uncompetitive 

D. flawless 

5. Having a highly social brain ______.

A. allows us to create groups with more members 

B. prevents us from being misunderstood 

C. causes us to be more devious 

D. helps us to read other people's minds 

6. The way we tend to think ______.
A. forces us to overlook our shortcomings 

B. has enhanced our understanding of sense perception 

C. distorts our perception of the notion of average 

D. makes us less likely to be concerned with absolutes 

7. The word “invidious” in paragraph 7 mostly means ______.
A. prejudiced 

B. preordained 

C. unfathomable 

D. attitudinal 

8. Which of the following square brackets [A], [B], [C], or [D] best indicates where in the paragraph the sentence "We are no strangers to going out of bounds." can be inserted? 

[A] The fact that we have created this world proves a point — namely, that it is in our nature to be unconstrained by our nature. [B] Science is one of the strangest, newest domains where we challenge our hominid limits. It also tests our sense of what is the norm, what counts as better than well and it challenges our sense of who we are. [C] Thanks to science, human life expectancy keeps extending, our average height increases, our intelligence test scores improve and we eventually break every world record. [D] But when it comes to humans becoming, on average smarter, taller and better at athletics, there is a problem: Who cares about the average? As individuals, we want to be better than other individuals. Our brain is invidious, comparative and more interested in contrasts, a state that begins with sensory systems that do not normally tell us about the quality of a stimulus but instead about the quality relative to the stimuli around it. 

A. [A] 


B. [B] 



C. [C] 



D. [D] 

9. It can be inferred from the passage that  

A. there are no limits to human capabilities 

B. we will be able to adapt to harsh environments 

C. humankind's evolutionary path will not be smooth 

D. our knowledge of the past is crucial to our future 

10. Which of the following is the main idea of the passage? 

A. Social intelligence enables Americans to be both academically and professionally successful. 
B. Science helps prolong human life and improve human intelligence to break all world records. 
C. Our evolutionary limits can be exceeded and that's what sets us apart from other species. 

D. A highly evolved social brain paved the way for humans to be able to read and distort others' thinking.
Your answers:

	1.
	2.
	3.
	4.
	5.

	6.
	7.
	8.
	9.
	10.


Part 4. Read the following passage and do the tasks that follow.

The strange journey that made Great Britain

As evidenced by its geological make-up, the island of Great Britain has a rich and varied pre-history.

First of all, to clear up a common misconception, Great Britain refers, to the largest island of the British Isles, (Great in this case meaning Big). It is made up of England, Scotland and Wales, and is the eighth largest island in the world. There are between around 4,000 and 6,289 other islands in the group (depending on the size of rock we are talking about and whether you can count it as an island if it is only one at high tide). Of these, around 200 are inhabited.

In order to grasp some of the more difficult ideas behind the prehistory of Great Britain, it helps to look at the Earth's geological past, starting with its formation 4.5 billion years ago. It is currently thought that the Earth and the planets were formed from dust left over from when the Sun was created. What is significant is that the Earth in its infancy was in a largely molten state, with constant volcanic activity and regular collisions with other bodies (one of which is thought to have created the Moon).
Although scientific opinion varies on many of these points, the generally accepted sequence of events is as follows: the temperature began to fall, forming the Earth's crust. At the same time, water appeared in the atmosphere. The volcanic activity released gases, creating an atmosphere, and the water condensed, forming the oceans. Molten material solidified, forming continents which broke apart and re-formed many times over the next couple of billion years. These continents migrated around the surface of the Earth and it is in the study of this continental drift that we can trace Great Britain's past.

At three stages in the Earth's geological past, supercontinents were formed, so that there was only one major land mass, while most of the rest of the Earth was covered with water. These supercontinents have been named Rodinia, Pannotia and Pangaea. The earliest of these, Rodinia, broke apart 750 million years ago, and 200 million years later, the land masses joined together again to form the second supercontinent, Pannotia.

Around 500 million years ago, in the period known as the Cambrian, Great Britain was largely underwater in the southern hemisphere, about the same distance from the South Pole as New Zealand is today. Scotland was attached to the plate with North America, while England and Wales were attached to Scandinavia. Around the time of the Silurian period, the two plates collided, bringing Scotland into contact with England. The collision caused what we call the Caledonian orogeny? - what are now the Scottish Highlands.

In the Devonian period of about 400 million years ago, the continuing rise of the Caledonian orogeny caused the majority of Great Britain to be above sea level. Africa and South America then collided with North America and Europe. Around 100 million years later, during what we call the Carboniferous period, Great Britain was in the equatorial forest belt of Pangaea, the last supercontinent. It was the vegetation from this forest that created the coal mined in Great Britain for centuries. Then, around 200 million years ago, Britain migrated to the northern desert belt, which explains why sandstone is so prevalent in the bedrock of Great Britain.

During the Jurassic and Cretaceous periods, between 190 and 65 million years ago, Pangaea broke apart and, due to rifting, Great Britain was flooded by the newly created Atlantic Ocean. Evidence of this can be found in the chalk under the soil, mainly in southern England. The chalk is made up of trillions of tiny sea creatures that died and formed a sediment at the bottom of the sea. After sea levels fell and rose several times, the continents we know today were established and the island of Great Britain was more or less where it is now.

Except that it was not an island. Throughout all of this movement, it was part of a larger continent. It was as recently as about 9,000 years ago that it became an island, when the end of the last ice age made sea levels rise yet again to create the English Channel and cut Great Britain off from continental Europe. The highlands and lowlands, the chalk cliffs, the layers of sandstone, the seams of salt, the precious metals, and the fossil fuels; all of these provide clues to the many, many changes that Great Britain went through in geological history.

Questions 1-5
Complete each sentence with the correct ending A-I below.

1. Currently, the island of Great Britain 

 

2. The supercontinent of Rodinia 


 

3. The Scottish Highlands mountain range 

 

4. The coal under the ground in Great Britain 

 

5. Apart from fossil fuels, the land under Great Britain 


A. broke apart and later re-formed as Pannotia. 

B. caused a rise in sea levels. 

C. dates back to a time when it was in an equatorial forest. 

D. led to the cooling of the Earth. 

E. contains salt, sandstone and chalk. 

F. is surrounded by several thousand smaller islands. 

G. used to be named Pangaea. 

H. was caused by flooding and rifting. 

I. is the result of two land masses colliding.

Questions 6-10 

Complete the timeline below. Choose NO MORE THAN THREE WORDS from the text for each answer.

Around 4.5 billion years ago: The Earth was formed, remaining in a molten form with a constantly changing surface due to frequent impacts and 6. ______________________.


The Earth's crust was formed due to the cooling of the planet.


Oceans were formed when water from the atmosphere 7. ______________________.


The first continents were formed when molten material solidified.

Around 500 million years ago:

8. ______________________ were united at the time when the Scottish Highlands were formed.


Around 300 million years ago: 
Great Britain was in a(n) 9. ______________________.


Around 200 million years ago:

The presence of sandstone today reveals that Britain was in the northern desert belt.

Around 100 million years ago: The chalk in Britain today comes from a build-up of dead sea creatures from the time when the area was 10.  ______________________ after the Atlantic Ocean was formed.
Your answers:

	1.
	2.
	3.
	4.
	5.

	6.
	7.
	8.
	9.
	10.


D. WRITING (50 points)
Part 1. The table below shows information about age, average income per person and population below poverty line in three states in the USA. (15 points)
Summarise the information by selecting and reporting the main features, and make comparisons where relevant.

[image: image3.png]Population below poverty line
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Part 2. Write an essay of about 250 words to express your opinion on the following topic. (35 points)
Some people think that the main purpose of school is to turn children into good citizens and workers, rather than benefit them as individuals.

To what extent do you agree or disagree?

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

……………………………………………………………………………………………………

-------------- THE END -------------- 
(Thí sinh không được sử dụng tài liệu. Cán bộ coi thi không giải thích gì thêm)
ĐỀ XUẤT
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